

51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933 TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No. 19-9607198-R

INV Date

TAX INVOICE

NTUC INCOME INSURANCE CO-OPERATIVE LTD INV No.

73 BRAS BASAH ROAD

#05-01 NTUC TRADE UNION HOUSE

SINGAPORE 189556

ATTN: ENG HUEY HUEY

o. AC2003747

08/05/2020

Reference CS/INC19020490/Gtd3n2

Code II



PROFESSIONAL SERVICE FEE

Vehicle No. SJT 961C

Insured Veh. SLU 7891X

Claim No. MT/1072031-001

Policy No.

Accident Date 15/11/2019

Inspection Date 19/11/2019

Description	Total
Damage Assessment	250.00
Resurvey Inspection	
Digital Photographs	
Transportation	
Subtotal	250.00
GST (7%)	17.50
Grand Total	267.50

We shall be glad if you could forward the payment at your early convenience.

Cheque should be crossed and made payable to 'LKK Auto Consultants Pte Ltd'

LKK Auto Consultants Pte Ltd

HYN



51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933

TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No. 19-9607198-R

DAMAGE ASSESSMEN	NT REPORT
------------------	-----------

NTUC INCOME INSURANCE CO-OPERATIVE LTD Ref: CS/INC19020490/Gtd3n2

ESTIMATED NORMAL PERIOD FOR REPAIR:

יט ו און	C INCOME INSUR	OME INSURANCE CO-OPERATIVE LTD Rei. CS/INC19020490/Gld3fi2					
		ASAH ROAD Date: 08-05-2020 JC TRADE UNION HOUSESINGAPORE					
ATTN	N: ENG HUEY HU	EY	Code:	INC			
1.	1. Policy Particulars :- THIRD PARTY CLAIM						
	Insured Veh. SLU 7891X Veh. Inspected SJT 961C			SJT 961C			
	Policy No.		Covera	age (\$)	0.00		
	Claim No.	MT/1072031-001	Excess (\$) 0.00		0.00		
	Assign From	HAZALYSA BINTI IBRAHIM	Assign	n Date	19/11/2019		
2.		Vehicle Partic	culars &	Condition			
	Make & Model	TOYOTA VIOS G	c.c		1497		
	Engine No.	HIDDEN	Year o	f Reg.	2009		
	Chassis No.	MR053HY9305131790	Colour	•	BLUE		
	Odometer	198355 KM	Steering IN ORDER		IN ORDER		
	Brakes	IN ORDER	Modifie	cation	SPORTS RIM		
	General	GOOD					
3.	3. Conditions of Tyres						
		Size	Make		Balance		
4	R/H Front Tyre	185/60 R15	YOKOH	IAMA	5 mm		
	L/H Front Tyre	185/60 R15	YOKOH	IAMA	5 mm		
	R/H Rear Tyre	185/60 R15	YOKOH	IAMA	5 mm		
	L/H Rear Tyre	185/60 R15	YOKOH	IAMA	5 mm		
4.		Description	on of Da	ımages			
	THE VEHICLE SUSTAINED DAMAGES AT THE REAR PORTION. DAMAGES SEE DETAILS.						
5.		General	Inform	ation			
	Accident Date	15/11/2019	Inspec	t Date / Time	19/11/2019 (12:00 PM)		
	Survey held at	WORKSHOP 99 AUTO SERVIC	ES				
	BLK 9 SIN MING ROAD #01-34 SIN MING INDUSTRIAL ESTATE SINGAPORE 575644						
5a.		Re	emarks				
	A)THE INSPECTION WAS CONDUCTED ON A"WITHOUT PREJUDICE" BASIS. B)IN ACCORDANCE TO YOUR INSTRUCTIONS, WE HAVE NOT AUTHORISED REPAIRS.						
5b.	Estimate Days of Repair						
	· -						

6 Working Days



51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933

TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No. 19-9607198-R

Page No.:1 of 3

ADJUSTMENT ON REPAIR COST FOR VEHICLE NO. SJT 961C

Qty	Description of Parts	Condition	Estimate By Workshop (\$))	Our Adjusted (\$)
	REPLACEMENT OF PARTS			
1	BOOT LID	BUCKLED	486.90	486.90
2	BOOT LID HINGES @\$65.00	O/S BENT / N/S NOT NECESSARY	130.00	65.00
1	BOOT LID RUBBER	TWISTED	42.90	42.90
1	BOOT LID HANDLE GARNISH	DEFORMED	181.60	181.60
2	LICENCE LAMPS @\$85.90	NOT NECESSARY	171.80	-
1	BOOT LID INNER LOCK TOP	BENT	88.50	88.50
1	BOOT LID INNER LOCK BOTTOM	NOT NECESSARY	22.30	-
1	BOOT LID NAME PLATE "VIOS"	NECESSARY	28.60	28.60
1	BOOT LID NAME PLATE "G"	NECESSARY	33.00	33.00
1	BOOT LID "TOYOTA" LOGO	NECESSARY	28.90	28.90
1	O/S REAR FENDER	TO REPAIR SEE LABOUR	688.60	-
1	O/S REAR FENDER INNER TRIM COVER	NOT NECESSARY	186.90	-
1	O/S REAR FENDER INNER SHIELD	NOT NECESSARY	36.90	-
1	REAR BUMPER FASCIA	DEFORMED	285.90	285.90
2	REAR BUMPER REFLECTORS @\$75.00	CRACKED	150.00	150.00
2	REAR BUMPER SIDE RETAINERS @\$28.90	DEFORMED	57.80	57.80
2	REAR BUMPER BRACKETS @\$56.60	NOT NECESSARY	113.20	-
1	SET REAR BUMPER CLIPS	NECESSARY	35.00	35.00
2	REAR LAMPS ASSY @\$180.95	CRACKED	361.90	361.90
2	REAR LAMP PANELS @\$92.70	TO REPAIR SEE LABOUR	185.40	-
1	REAR PANEL	BUCKLED	666.95	666.95
1	REAR PANEL INNER TRIM COVER	DEFORMED	109.55	109.55
1	REAR BOOT FLOOR PANEL	TO REPAIR SEE LABOUR	599.65	-
1	SPARE TYRE TOP HARDBOARD	CUT	65.70	65.70
2	BOOT SIDE ENERGY SPONGE	NOT NECESSARY	154.80	-
1	BOOT REAR ENERGY SPONGE	NOT NECESSARY	87.00	-
1	REAR EXHAUST PIPE	BENT	465.90	465.90
1	CENTRE EXHAUST BOX	NOT NECESSARY	1,055.95	-

Report Ref No. CS/INC19020490/Gtd3n2



51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933

TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No. 19-9607198-R

Page No.:2 of 3

Qty	Description of Parts	Condition	Estimate By Workshop (\$))	Our Adjusted (\$)
2	EXHAUST MOUNTINGS @\$125.90	NOT NECESSARY	251.80	-
1	O/S FRONT SEAT RECLINING GEAR }	NOT NECESSARY	958.00	-
1	O/S FRONT SEAT SLIDING RAILING }	NOT NECESSARY	-	-
	LESS 25% DISCOUNT		-1,932.85	-788.53
			5,798.55	2,365.57
	SPECIAL NETT ITEMS			
1	REAR NOS PLATE (SN)	CUT	50.00	40.00
1	SET REVERSE SENSORS (SN)	DAMAGED	230.00	200.00
1	REAR WINDSCREEN GLASS SEALANT (SN)	NOT NECESSARY	80.00	-
			360.00	240.00
	<u>LABOUR</u>			
	TO REMOVE LAMPS,NECESSARY WIRINGS AND ELECTRICAL FITTINGS TO ENABLE NECESSARY REPAIRS,CHECK,REPLACE DAMAGED LAMPS,REFIT SAME.		50.00	30.00
	TO REMOVE O/S FRONT SEAT,CHECK,REPAIR AND ALIGN SEAT FRAME,REPLACE SLIDING RAIL AND RECLINING GEAR ASSY,REFIT SAME.	NOT NECESSARY	280.00	-
	TO REMOVE REAR EXHAUST PIPE AND SILENCER ASSY,CHECK,REPLACE SAME WITH MOUNTING AND REFIT.		150.00	150.00
	TO REMOVE REAR WINDSCREEN GLASS ASSY,TO ENABLE NECESSARY REPAIRS,CHECK,REFIT GLASS ASSY.(BONDED TYPE WINDSCREEN GLASS).	NOT NECESSARY	180.00	-
	TO REMOVE REAR SEATS AND BACKREST,REAR PARCEL TRAY,GARNISHES AND NECESSARY INTERIOR UPHOLSTERY TO ENABLE REPAIR AND REPLACE OF PARTS,REFIT SAME.		180.00	80.00
	TO REMOVE DAMAGED PARTS, JACK AND CUT OUT DAMAGED BODY PANELS, JACK OUT, STRAIGHTEN UP DAMAGED BODY PANELS AND REPAIR BODY PARTS AND FITTINGS, WHICHEVER POSSIBLE AND NECESSARY, REPLACE AND WELD NECESSARY DAMAGED PARTS, REFIT AND REALIGN WHICHEVER PARTS NECESSARY. INCLUSIVE OF THE REPAIR OF O/S REAR FENDER, REAR LAMP PANELS AND REAR BOOT FLOOR PANEL.		1,200.00	900.00



51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933

TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No. 19-9607198-R

Page No.:3 of 3

3,850.00

Qty	Description of Parts	Condition	Estimate By Workshop (\$))	Our Adjusted (\$)
	TO SPRAY PAINTING REPLACEMENT PARTS AND REPAINT DAMAGED SECTIONS WITH WELDED PORTIONS IN AND OUTSIDE.INCLUDING PUTTY.		1,000.00	1,000.00
	TO PERFORM A COMPUTERISE SYSTEMS CHECKING AFTER REMOVING OF NECESSARY WIRINGS AND ELECTRICAL FITTINGS TO ENABLE NECESSARY DIAGNOSTING AND RE-SETTING TO SPECIFICATIONS.	NOT NECESSARY	120.00	-
	TO RUST PROOFING DAMAGED PORTIONS AND REPLACEMENT PARTS.		120.00	60.00
			3,280.00	2,220.00
	GRAND TOTAL		9,438.55	4,825.57

Report Ref No. CS/INC19020490/Gtd3n2

RECOMMENDED COST OF LUMP SUM REPAIRS

(TO ITS PRE-ACCIDENT CONDITION)

(CONFIRMED)

XING GUO QIANG

M.MATAI, AMSAE-A

K.K.LAU CPT(RET)

BEng(Hons),B.Bus,MBA,PEng,PE, MInstAEA,MASME,MIRTE

REGD Auto Consultant-SAE, Licensed Appraiser

Automotive Assessor

DISCLAIMER OF LIABILITY TO THIRD PARTIES:- This Report is made solely for the use and benefit of the Client named on the front page of this Report.

No liability of responsibility whatsoever, in contact or tort, is accepted to any third party who may reply on the Report wholly or in part. Any third party acting or replying on this Report, in whole or in part, does so at his or her own risk.